FMEUVBH LOBRBEIEOBEM(TH4F4A1BRAE)

AN B AR5 E AR FE2618)FE8ENIF2IENHRTEICKY . FEMRVEH LR LOBERKICODLVTARLET,

TERERRER (1)

= g |ERALEBBROBESS B F z R B oA £ O B R
E £ T DHEBE | (A)| (%) B 4 (A CAY [ (o) | B2 m
2%k, 3k, AR IISHKICES — R B 128
Tk UV B DTS 128 207 5 128 %
v pe 393 63.7 a8
o8 |TEOBE 265 42.9 . — i
R 65
. ) HEEZRR 77 &
3k R, Eé‘%ﬁ’ ERRUE 152 246 |BEE 1 152 246 £
ROB% &
fER 9 !
it 152
B2E 44
HERE 9
ZR HIEER ER 5% =E 4 B3
AR |ZE0OEBRERVESFHE| 60 9.7 60 9.7 E
LEHERREOHIE EBBRE 2 e
BEEEBRRE 1
it 60
B 9
ME, HLEME SHEEE L ‘ 5
5%k &UE%‘#$E§%$%§%§O) 12 19 |[&5EEE 1 12 1.9 £
s BEBBRE i #
it 12
&t 617 100
ITEERR R (2)
= g [FBRAIBEMBR-BEIL & F M G BoH £ o BB
E X2 LT DBE [ (A)]| (%) B & (AD) [ CADY [ (o) | B B8
2R L3RICESHLEBE D — % E 2
1% B 7 2 5.7 = ” &
RELE m B | M| B
o8 |HBETEOWE 31 886 |—n= — 31 L
BEfR 2 %=
3 |HEREORE 2 o i 2 5.7 K
it 2 iR
A&t 35 100




